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BASCOM-AVR 8 — 12
8.4 LCD
LCD = BASCOM-AVR ,
40 * 4, 16 * 1, 16 * 2, 16 * 4, 20 * 2, 20 * 4, 16 * la
8.4.1 LCD
: LCD a
: BASCOM-AVR LCD
LCD
LCD \ CMOS a MCU
RAM. .
4 /8
96  ASCII + 92
RAM
( 3.3 )
2.
1 Vss , A —5Vi
2 Vdd s +BV
3 Vo LCD
4 RS RS=0 .
RS=1 .,
5 R/W / R/W=0 ., LCD
R/W=1 . LCD
6 E
7 DBO
8 DB1
9 DB2 DB4—bB7
10 DB3
11 DB4 DBO—BB7
12 DB5
13 DB6
14 DB7
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BASCOM-AVR 8 — 13
1 ( 8.4.1)
LCD Display
urw (]
I g ERAREEER cnanss

FEIL(T1) CADOYPAD

PEICAIND)  (ADIIPAL gg
5 PEI(AINI)  (ADJIPAZ 3 oo e 5

PEA(EE) [ADTIPAS
PES(MOST)  (AD4)PA4

k]

et b e e

11

| PB&(MISD)  (ADSPAS 22
H PENICK)  (ADEIPAE i
il REEET CADTIFAT 31'
& PDO(RED) IcP e
L POA(TED) ALE =
~f5—1 PR2ONTO oCIB —S— -
T PDI(INTL]  (ALSIPCT s
—1-5— FD4 [A14)PCE —5?-
= PDSIGCLA)  (ALFIPCS = ~
i PG W) [AlZFCY = ru bl
i PII(RD) [ALLIPCS o | TH O CZ3-T
XTALZ [AlMPC2 = ID-" e
g ETALL CARIPTL gf—lﬂ'ﬂl' i FaEk S i
SR CAEIFCD e S
IOSESLS i
<8.4.1
zexp4.bas
$Sim ‘ ,
" LCD 1/0

Config Lcdpin = Pin , Db4 = Porta.4 , Db5 = Porta.5 , Db6 = Porta.6 ,
Db7 = Porta.7 , E = Porta.1l , Rs = Porta.0

Dim A As Byte ‘ A

Config Lecd = 16 * 2 ) 16*2 LCD
Deflcdchar 0 , 32 , 31, 14 ,4 , 4,14 , 31, 32 ) 0
Deflcdchar 1 , 31, 32, 17, 27 , 27 , 17 , 32 , 31 ‘ 1

Cls ‘ LCD

Led "Hello world." ‘ “Hello world.”
Waitms 250

Lowerline ‘

Led Chr(0) ; Chr(l) ; "1@#$W&*" ; Chr(1) ; Chr(0) ‘

Waitms 250

For A =1 To 16
Shiftlcd Right ‘ 16
Waitms 250

Next

For A =1 To 28
Shiftlcd Left ‘ 28
Waitms 250

Next

For A =1 To 12
Shiftlcd Right ‘ 12
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BASCOM-AVR 8 — 14
Waitms 250
Next
End
( 8.2.5). -
8.4.2 -
s a 3 0-9
’ LCD a 3 » 3
2 a
6.4.1
: Exp5.bas

Config Lcdpin = Pin , Db4 = Porta.4 , Db5 = Porta.5 , Db6 = Porta.6 , Db7 = Porta.7 ,

E = Porta.l1 , Rs = Porta.0

Config Lcd = 16 * 2 -
Config Pinc.0 = Input ,
Portc.0,Portc.1,Portc.2

Portc.0 =1 : Portc.1 =1 : Portc.2 =1

Dim A As Byte , B As Byte , C As Byte , | As Byte

Cursor Off Noblink

Cls -
Do
I = Pinc And &HO7 -
Waitms 50
Select Case |
Case 7:

A = Rnd(90) / 10 : B = Rnd(90) / 10 : C = Rnd(90) / 10

Locate 1 , 6 : Lcd A

Locate 1 , 8 : Lcd B

Locate 1 , 10 : Lcd C
Case 6:

A =Rnd(90) /7 10 : B

Locate 1 , 6 : Lcd A

Locate 1 , 8 : Lcd B
Case 5:

A =Rnd(90) /7 10 : C

Locate 1 , 6 : Lcd A

Locate 1 , 10 : Lecd C
Case 4:

A = Rnd(90) 7/ 10

Locate 1 , 6 : Lcd A

Rnd(90) / 10

Rnd(90) / 10

LCD

Pinc.1l = Input , Pinc.2 = Input

LCD

LCD
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\ "1
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